Activity 3
Think whether you agree or disagree with the following statements and for each say why:

(Text facility)
‘Many indirect jobs will be created by hosting the Ryder Cup’.
Agree/Disagree?  ____________

Because______________________________________________

_____________________________________________________
‘The Ryder Cup will have a long term positive economic impact on Newport’.
Agree/Disagree?  ____________

Because______________________________________________

_____________________________________________________
‘Too much money has been spent on preparing the area for the Ryder Cup; this could have been spent on improving schools and hospitals’.
Agree/Disagree?  ____________

Because______________________________________________

_____________________________________________________
‘Most of the money created by the Ryder Cup will leak out of Newport’.
Agree/Disagree?  ____________

Because______________________________________________

_____________________________________________________
‘Local people will be worse off as they had to finance the redevelopment of the area’. 
Agree/Disagree?  ____________

Because______________________________________________

_____________________________________________________
‘Many new businesses will start because of the Ryder Cup’.
Agree/Disagree?  ____________

Because______________________________________________

_____________________________________________________
‘Most of the new jobs will be temporary’.
Agree/Disagree?  ____________

Because______________________________________________

_____________________________________________________
http://www.bbc.co.uk/news/uk-wales-11434570 

Click on the link above to read about some of the impacts of the Ryder Cup.
